Refer to graph attached.

1.   Starting at equilibrium income $50 billion, where (S - I)0 intersects (X - M) 0,  suppose that worsening economic conditions abroad lead to an autonomous decrease in Australian exports of $5 billion. How much will Australian income be? What will Australia's trade account balance be? Explain your reasoning.   

2. Starting at equilibrium income $50 billion, where (S - I) 0 intersects (X - M) 0, suppose that improving profit expectations lead to an autonomous increase in Australian investment of $5 billion. How much will Australian income be? What will Australia's trade account balance be? Explain your reasoning. 

3. Starting at equilibrium income $50 billion, where (S - I) 0 intersects (X - M) 0, suppose that increased thriftiness leads to an autonomous increase in Australian saving of $5 billion. How much will Australian income be? What will Australia's trade account balance be? Explain your reasoning. 

4. Starting at equilibrium income $50 billion, where (S - I) 0 intersects (X - M) 0, suppose that changing preferences lead to an autonomous increase in Australian imports of $5 billion. How much will Australian income be? What will Australia's trade account balance be? Explain your reasoning. 

5. As indicated by the slope of the (X – M) schedule and (S – I) schedule, what is the value of Australia’s foreign trade multiplier?  

